
38-OS ASMENINĖS IR 25-OS KOMANDINĖS LIETUVOS PIRMENYBĖS 

 

Vilnius 2017-04-22/23 

 

1-AS 

TURAS 
≠ 2  

20min. 

Dalyvis: 

Nr.1 

 
12+12                                  ≠2 

 

 

 

Nr.2 

 
8+11                                   ≠2 

 

 

Nr.3 

 
11+10                                  ≠2 

 

 

 



38-OS ASMENINĖS IR 25-OS KOMANDINĖS LIETUVOS PIRMENYBĖS 

 

Vilnius 2017-04-22/23 

 

2-AS 

TURAS 
≠ 3  

60min. 

Dalyvis: 

Nr.4 

 
9+11                                   ≠3 

 

 

 

Nr.5 

 
8+9                                      ≠3 

 

 

Nr.6 

 
9+9                                      ≠3 

 

 

                                            



38-OS ASMENINĖS IR 25-OS KOMANDINĖS LIETUVOS PIRMENYBĖS 

 

Vilnius 2017-04-22/23 

 

 

3-AS 

TURAS 
+/=  

100min. 

Dalyvis: 

Nr.7 

 
7+7                                       = 

 

 

 

Nr.8 

 
6+5                                         + 

 

Nr.9 

 
5+2       Black move               + 

 

 

                                            



38-OS ASMENINĖS IR 25-OS KOMANDINĖS LIETUVOS PIRMENYBĖS 

 

Vilnius 2017-04-22/23 

 

 

4-AS 

TURAS 
≠ 2  

50min. 

Dalyvis: 

Nr.10 

 
7+13               21 11             h≠2 

 

 

 

Nr.11 

 
4+13        21 11 11            h≠3 

 

 

Nr.12 

 
3+5             21 .....            h≠6 

 

 

                                            



38-OS ASMENINĖS IR 25-OS KOMANDINĖS LIETUVOS PIRMENYBĖS 

 

Vilnius 2017-04-22/23 

 

 

5-AS 

TURAS 
≠ n  

80min. 

Dalyvis: 

Nr.13 

 
15+10                                  ≠4 

 

 

 

Nr.14 

 
9+13                                  ≠5 

 

 

Nr.15 

 
3+5                                     ≠6 

 

 

                                            



38-OS ASMENINĖS IR 25-OS KOMANDINĖS LIETUVOS PIRMENYBĖS 

 

Vilnius 2017-04-22/23 

 

 

6-AS 

TURAS 
S≠   

50min. 

Dalyvis: 

Nr.16 

 
6+11                                   S≠2 

 

 

 

Nr.17 

 
11+5                                S≠3 

 

 

Nr.18 

 
11+13                                  S≠5 

 

 

                                            


